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Std - Sixth  Sub - Maths (Semi)
I@ Let’s learn. m L. Equations

The Solution of an Equation

300 m <

In the picture above, the distance between the house and the school is seen to be
300 m. On the same straight road, there is a shop between the school and the house. The
distance between the shop and the house is 190 m. What is the distance between the school
and the shop?

Use of a Letter for a Number
School Shop House
® > ®
X m 190 m
Teacher : See how the given information is shown in the picture above.

Sujata : Sir, why is the distance from the shop to the school shown as x7?
Teacher : Instead of writing the number, we suppose that the distance is x. That is the
distance we have to find out. Till we do so, we write it as X.
Samir : Then the sum of x and 190 should be 300.
Teacher : That's right! Let’s write this in the form of an equation. Remember that x is
a number but we do not know its value as yet.
X + 190 = 300 What is the value of x here?
Shabana tried out various numbers for Xx.

First she supposed x was equal to 70. The left hand side became 70 + 190 = 260.
That was less than the right hand side. Then she took 150 for x and the left hand side
became 340. This was greater than the right hand side. Finally, she chose 110 for the value
of x. That made the left hand side the same as the right hand side and the equation was
balanced. It meant that the value of x or the distance between the shop and the school
was 110 metres.

In an equation, a letter is sometimes used in place of a number. A value for the letter
has to be found that will make the equation balanced. Such a letter is called a ‘variable’.

The value of the variable which balances or satisfies the equation is called the
‘solution’ to the equation. To solve an equation is to find the value of the variable in
the equation or to find the solution to the equation.

In the example above, the solution to the equation ‘x + 190 = 300" is 110.

read and understand.
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planets, and stars etc. An almanac gives this
information for the whole year.

e swift : moving quickly

e almanac/almanack : a book that gives
information about important days and dates,
phases of the moon, the daily time of the
rising and setting of the sun, the moon, other

“!EHNiEEEP’ ...............................................................................................................

1. Form pairs to read the poem aloud. One person reads
the question (the first line in each stanza) and the other one
reads the answer. Practise doing this and then present the poem in a pair.

e runn’th : runneth, old form of ‘runs’.
® sage : wise man

= -
A3NZ6K

2. List the rhyming words or phrases from the poem.
Then put each pair into two groups as follows -

read and solve.
Rhyming Pairs
|
I I

Same spelling Different spelling
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Std - Sixth Sub - General Science (Semi)

9, Motion and Types of Motion |

9.3 : Linear motion

1. Linear motion

A train or a moving vehicle on a road may travel in a straight line or
in the same direction. This motion of an object is called linear motion. An ((
object in linear motion shows displacement along a straight line.

If you stand on a chair and release a ball from your hand, it falls to .’ l h
the floor. What do you conclude from this? “

7

Read and Understand.
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